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Question Number : 1 Question Id : 4771877033 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement regarding growth, development and

maturity of the child
AT =T, T AT Tieagar =7 @esft o= = drean
Options :

Development refers to growth as well as behavipural changes

= = = LR 5 .
[T g Al dHH AdNHIdel dax
1. %
Growth refers to structural and psyvchological changes
qTE FEITS AZAATCHS AT HIAHE a2
2.¢
Biological and environmental factors influence development
3.

Maturation refers to the emergence of an organism’s genetic potential



Question Number : 2 Question Id : 4771877034 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Development Theories given under List-A with their basic aspects

given under List-B

ATET — 3 AT T (oo (A HGIar=! ATal — F FAd (AT AT=a7 A
st ez

A)

C)

List- A

qTal -
(Development) (F=1H)

Erikson’s Paycho-Social

Development
U= A% — ATHTer (T

Piaget’s Cognitive Development

Carl Roger’s Self Development

Choose the correct one

I+ 37 Ha=T
Options :

1. ®

A-m, B-v, C-n

i)

111 )

iif}

Lizst —B
qei -

(Theme) (H=q FedqT / H7 f497)

Depends on concrete and abstract
thinking abilities

BT AT A =T FHerar=A1

Depends on experiential learnming

FAAATAT (STATAL AqAdd AT
Depends on universal ethical

principles

AT =T A Td® daia? Aqeddd AAd

Depends on the result of child

interaction with his social

environment

HAT=T ST=AT ATHIF
ATATA LT AHAAT TLETT




A-1,B-1, C-mn

2. %

- A-iv, B, C-u
A-m, B-wv. Ca

4. %

Question Number : 3 Question Id : 4771877035 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Erik Erickson’s ‘Psycho-Social Development Theory'. a student of

Class IX 1sin this stage of crisis

HHZT=AT 20T ATE.
Options :

Imitiative Va Gualt

3 AETE Efi“@ G qaﬁji T
1. ®

Industry Vs Inferiority
2.

Autonomy Vs Shame
3. %

Role Identity Vs Role confusion

4.



Question Number : 4 Question Id : 4771877036 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following, identify the external factor. that influences Child

Development

i‘gldirﬂﬂaﬁi | [a’:ﬁ L IEEA qis MTH =hH U”-\Q a[{:l Hath d:‘lr |
Options :

Physaical environment

L ;

Hormones

2. ®
Intelligence
b

3. %

Emotional maturity

il [ s
CICIEEIIERF T



Question Number : 5 Question Id : 4771877037 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following 1dentify those that are more helpful to teacher to provide

adequate learning experiences for every learner according to their

individuality

T A=A AT A GHATTATE (8T ATHT 2T THTS! [STATT A 8T

T BIITL ATATATD] FI07d Aed o Aledr.

A Ability grt}uping

HAHAT T2dz

B) Adjusting the curriculum

AETEHHHTS FHETAT

C} Adjusting the methods of teaching

ferarT T ey FaTeo FHr

D) Proper knowledge of the individual's potentialities

SATH=4T dHaTH 99 T4
Choose the correct one:

Options :

A B.C.D
1.
A, C.Donly
, % T A.C.D
B.C. D only
%@ B.C, D

3. %



A, B.C only

L% A, B, C

Question Number : 6 Question Id : 4771877038 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Saritha, a 12 years’ age girl. appeared and completed ‘Intermediate’ with A+

grade. This reflects that her

12 T AT 21 qAT Z2H 1292 HeT T+ TeAg I ATAT A9 geH T2

Options :

Chronological age 1s greater than Mental age

1. #

Mental age 15 less than Chronological age
2. %

Mental age is greater than Chronological age
s HIATEF T & FTATHIHD TATTAT S5 ATe

No relation between Chronological and Mental age

FTATLF T AT AIATF TG BTl Gae TTal



Question Number : 7 Question Id : 4771877039 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of stages of creative thinking
ST TET=AT T0=T A9 7 ArbaT
Options :

Preparation, Verification, Incubation. Illumination

1. ®

Preparation, Incubation. Illumination, Verification
2.9

Verification. Preparation. Incubation, Illumination
3. %

Preparation, Illumination, Incubation, Verification

a4 i-i, ‘E&W, JEHTEA, T=dTe



Question Number : 8 Question Id : 4771877040 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT an example for primary reinforcement

Options :
Food
qAH

1. %

Sleep

2. %
Water
qrft

3. %

Praize



Question Number : 9 Question Id : 4771877041 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As a teacher, which test do vou use to assess the aptitude of your students?
fereass w2ur qE=AT H=EmA = A== TUTEo S T B AT e

Options :

Thematic Apperception Test

faaaTeast giosm Jr=it
1. %
Army Alpha tests
2. %
Raven's Coloured Progressive Matrices
| e e
3.

Finger Dexterity tests

4.



Question Number : 10 Question Id : 4771877042 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With respect to nature of the Head of the school. which among the following

lead to maladjustment, criticism among teachers and students?

STTEE=AT HEATEATTR= T TAATAT FTad, DTeATeAdh] o7 107 fererh ATfor
T ATaATA S, £ AT FT0ET 570,

Options :

Social adaptability and maturity

1. #
Participative leadership
HEATT aqcd
2. ®
Authoritarian leadership
E Tﬁ Ql'l_gﬁ | qod
3.¢¥

Self-confidence and positive approach



Question Number : 11 Question Id : 4771877043 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which method iz more applicable to guide the student. who i1s facing the

problems like aggressiveness, anxiety, shyness, temper tantrums and poor

academic performance?

AT, AT, ATSTEIN, T AT FHFAT ST FIHET AT THEET T1E 2077-
AT =T TAT ARSI FEOATATST T T2d ATSH AT T2

Options :

(Cross- sectional method

HIT — AFAA T5d

1. %

Case Study method
2.9

Cumulative marks record
s x T AT Al

Introspection method

ﬂicﬂfﬁd_i?ﬂ'ﬂT Tz d



Question Number : 12 Question Id : 4771877044 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to ‘Piaget’s Cognitive Development Theory’. the child exhibits this

at Pre-Operational stage

Fdl

Options :

Logical thinking

1. ®

Conservation

GELE]

2. %

Problem solving ability

HHEAT HISaUETH T AHaT

Egocentrism

4. ¢



Question Number : 13 Question Id : 4771877045 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The changes in behaviour of an individual that occur by one of the following

factors does NOT fall in the category of learning

TETAT F2HT Hob TETAT ATH=AT Fd41d gI9MY dael [SrFr=a71 Fre e Ao Jad

Options :

Changes due to practice

qITETHS 959

1. %
Changes due to experience
. ATAATHS o
2.
Changes due to training
. FISTEAOTHS T2
3. B

Changes due to maturation

4.



Question Number : 14 Question Id : 4771877046 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding multiple intelligence theory

AT FEHAT HSTATAT ATHE ATE - =T ATE-F =T F[SAT AT

List- A List —B
&l - 7 AT -
(Intelligence ) (Tfa#T) (Association ) (H&Ta)
A) Spatial intelligence 1)  Social smart
GIEHEER]
EEEARIRIGIF-tl]
B) Interpersonal intelligence i1) Picture smart
ELRERINEICIE-CRll == 7
C) Intrapersonal intelligence m) Self smart

Choose the correct one

I 9979 Ha=T

Options :

A-m, B-1, C-11

1. ®

A-1, B-1, C-m
2. %

A-1, B-1, C-mn
3. ¢

A-m, B-u, C



Question Number : 15 Question Id : 4771877047 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT pair among the following

Options :

Differential Aptitude Test - Wechsler

- Tt gga=T S - FFEaL

Equally Appearing Interval Rating Scale — Thurstone

THT ST F57a7 7187 56 — 9209

2. %
Client Centred Approach - Carl Rogers
, T Fad gTFH — F1et Tisd
3.

Thematic Apperception Test — Murray & Morgan

Tardtes AtgvaTe 352 — 97 &t /i



Question Number : 16 Question Id : 4771877048 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following theory is related to cognitive learning?

ardred=hl Horar fagid dsrTeRs foraomsft gafaT arg?

Options :

Learning by Insight

o s fa

Learning by Conditioning

Fwagar g1 farehor
2. %
Learning by Trial and Error
=TT AT 72T Z1 et
3. %
Imprinting
BT "HIS9



Question Number : 17 Question Id : 4771877049 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“An individual once conditioned to respond to a specific stimulus 1s made to
respond in the same way In response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning

AT TEITAT 3a< SO Tal a0 TdHTE 235 A", T =& g asiT

Options :

Extinetion
1. #

Spontaneous recovery
2. % ‘

Stimulus generalisation
3.

Stimulus discrimination

4. %



Question Number : 18 Question Id : 4771877050 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in their mind for

seeking maximum poeitive transfer of learning.

forerarT= STEd T STTEd AT TcH gea 120 HI0ATATST {9reqsh Arfor =i 2
ZIOFIF AT=AT HATA Sa TTigsl

A) Identification of associations, similarities and dissimilarities among the

learning situations

fermaT=aT Ut e aeier gas, aam=ar i AHETEar =T Aeg

B) Developing proper ideals and imbibing them to perform things in future

A ATE9T T Taa F207 ATt AiereaTa 19T FeATHT3T o ATCHATT 70T,

C) Building generalisations and malking their use in further learning

Choose the correct one

EEREIEAEEET]
Options :

A, Conly

T A, C
1. %

B. (:, 01115*

T B. C

A only

T A
3. %



. A BC

Question Number : 19 Question Id : 4771877051 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following which one comprises of personal events and experiences

assoclated with one's life

FTATAT FITATHET TETIT=T AT1e Faea a3 g7 AT ATaar=7
THTHT AT,

Options :

Rote memory

1. #
Semantic memory
2, @ FATTE
Short-term memory
. FTFTA T FHAT
3.

Senszory memory

4. %



Question Number : 20 Question Id : 4771877052 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the techniques that may help the teacher to sustain motivation among
students in the classroom

AT AT THET G0 EFg A Sa TS [STAFIAT Had % 9T (o A9 qaAT= 1
AHE FA.

Al Reward and Punishment
aee Arior ferem
B) Success and Failure

75T ATTOT 23St

C} Level of Aspiration

D) Child Centred Education
AT Hiezd (97T

Choose the correct one

Options :

A.B.CD
1.

B. C. D only

% B, C.D
2.

A.C.D only

Th A C.D



B. C Olll:r

% B, C
4, %

Question Number : 21 Question Id : 4771877053 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The percentage of learnt material forgotten 1immediately after 20 minutes as

per the Ebbinghaus experiment
TiATEa=AT FANHAT fearadt amadt &= 20 Winemae Fass et agart

Options :

L% 728
AT 6
) 476
79%
3. %
758



Question Number : 22 Question Id : 4771877054 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson
due to fatigue. The Thorndike’s law of learning that 1s NOT followed by the
teacher here 12
TSTEART T SAATAHRT T HTATHTST AT =T GheAT= | eqdt @1 7 5T g=7
ferFaeT. e =T aF=ATHe 9T 59 aF ATeid AT (SHT i g
ATH=TE® (ST HIH 915 ATal.

Options :

Law of use

Tt HEH
1. %
Law of readiness
GRIEAEIREEE: ]
2.4

Law of disuse

&
3.

Law of effect

gromaTET



Question Number : 23 Question Id : 4771877055 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT support the concept of Vygotsky's

Constructivist Theory

FTATEH =T 791941 (HSTaT=aT AFeadeT Aq49q 7 2077 (987 a7
Options :

Social interactions are basis to higher order mental processes

1. %
Cultural factors influence cognitive development
. HIE 3 H2® AAICHF [FRETEL T Fd7d
2.
Learning 1s the product of association between stimulus and responses
fmT“T % ST ETI'F"}f o Elq\ I*EHEE | 'J\:|T_r,|'?-_'] I -\E' S 3:"%
3. ¢

Language plays a vital role in cognitive development



Question Number : 24 Question Id : 4771877056 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom

TATIEr FOTATT WEl AT ATeie Q=T AT

A) Socially disadvantaged children
B) Physically disabled children
ST g =T qot
C) Academically differentiated children

D) Mentally exceptional children

Choose the correct one

AR 397 Ha=T
Options :

A B.Conly

L% T A B.C

B. C. D only

%W B.C.D
2. %

A.C.Donly

3 % T A.C.D

A BCD
4. ¢



Question Number : 25 Question Id : 4771877057 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this model of inclusive education. the specially trained teacher moves from
one school to another and assists the differently abled children

AT HATAL TSTeAT=AT (Wied) TH=THes =erT qisrfera forsa uer ¢ FH-AT
STTehT STTAT AT ST TedT FHT7=AT (=A1 E=mAa AT g=d .

Options :

Itinerant teaching model

FHTSTe LTI AT
1.

Resourece model

TATHT THAT

Distance learning model

7 AEAAT AHAT

Dual teaching model

FeIT AEATI T



Question Number : 26 Question Id : 4771877058 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT reflect the concept of self-concept
ATATAT=H T HIoTd TG FEFAAAT (self—concept) HHedaT Aidfd (dd Hd dAlgl
g ==t

Options :

Self—concept 1s the image of oneself

- AT FGq:F Aiafae AqT

Real self-concept reflects one’s actual perception of oneself

G T HFEAT ol ATH=AT Tad: dad=41 aredid® J1ora=71 Aidiad T9qd

Differential Aptitude Tests measure the gap between real self and ideal

self

fearfarer =eoraT ST (Differential Aptitude Tests) FAATEI A AT &=
AT=ST ATATA A AAL HAATT
3.¢

Ideal self-concept reflects the perception of what one should be

T AES AHeTAT &1 FATh Tl AFT AT FoqT T9Gd

4, %



Question Number : 27 Question Id : 4771877059 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following method 1s suitable for teacher centric learning
GTA AT BT TG (9T g (ATTETST T g

Options :

Brain storming

EEIER:PE]
1. #
Demonstrations
ATt
2.9
Discussions
3. %

Project works

4.%



Question Number : 28 Question Id : 4771877060 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Co-operative learning helps the teacher to develop these among students

AEATL T9TET fSreqshratT =g ia=d =71 Fa1d Feva1q Had Fed

A) Group processing

T H ia‘_r?-'-l
B) Individual accountability
C) Face to face interactions

D) Positive interdependence

HETTHE EIJ\T-EE{EE%'?I 2L

Choose the correct one

Options :
A.B.Donly

THmA B D

A, B, Conly

) % wwh A, B, C

B.C. D only

w0 B.C,D

ABCD
4. ¢



Question Number : 29 Question Id : 4771877061 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to this section of Right of Children to Free and Compulsory
Education (RTE) Act-20009, ‘No child shall be subjected to physical

punishment or mental harassment’

2009 — F1==T (RTE) #ATWT A6 F S<i=4T (9TEAT=T gHr=AT AT FAATIHATL
TR HATAT AT TF &2 [har aaia® @ gis a4

Options :

Section-17

o 17
1.

Section-16

faar1-16

Section-19

=9 -19

Section-18

a9 -18



Question Number : 30 Question Id : 4771877062 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher who got irritated by the comments of Headmaster showed her anger

on students in the classroom. This is an example for this defense mechanism

AT % AT 919 TS (defense mechanism) I3TET™ ?ﬂl%__.
Options :
Rationalisation
1. %
Displacement
IEE IR
2.9
Projection
FETIT
3. %
Compensation

4, %

Language I Marathi
Section Id : 477187223
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187355

Question Shuffling Allowed : Yes



Question Id : 4771877063 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

WA FHIF 31 35 H1 ITL G| 2T =T AL A TA T (a2 (el

Tl ATed dH= AT
1B BT T a1
I TETTAT AFATATAT
ST g 997 H2r ||

@ Ea L i ,.1
IBESEIE IR P IAC R R
SCATIT BT e 1

FeETET A7 AATET AT
STLAT ST T |

2 TSI STTATH Fab T |
Gref, {9 AT T4

fa) r.
2l F7dT Hdd edld] I

ATST=AT AFATE T AT

YA 9 S5 qT4]

TS AT 3399 |
- | [ [ [
Fsfr= Frer st =27l

SAT AT g9 =arat

Sub questions

Question Number : 31 Question Id : 4771877064 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
AT

1. =



2. 8

HTHTH
3 %

A
4. v

Question Number : 32 Question Id : 4771877065 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

=T

1. =

|

Question Number : 33 Question Id : 4771877066 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Tore=T AT sTesTaT A9?
Options :

E1E
Ly 0



Question Number : 34 Question Id : 4771877067 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I wied #a® o ?

Options :

GG
1. %

Tl AT

2.9

Fierar

Question Number : 35 Question Id : 4771877068 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
HIETAT

. ! r*- T
3. %
FIoTe & ATES
4, ® ) '
Sub-Section Number : 2
Sub-Section Id : 477187356

Question Shuffling Allowed : Yes



Question Id : 4771877069 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)

T FHE 36 T 40T 3T GTAT [T JAT-AT=AT AT A7 T4 Hage ogi—

AEIAAT $ATHA UFal TAdE =41 FoAT qlea AT, o g sAEAT A ATaAm
FEUITAT — “9ATH, AL AT HFAT FioAT q13 A4, AT ¥ FATH T A (=47 HIS[47F He|

=TT BT . FEATHG T ST b AT 6 a1 Teal A6 T [d A, UHT SAATRIGT 9ATH
FUS FIGA AgH 1 THT AT FSTAL AT HIB] AT THAT, AT = FT FEATFAT
(@A ATAT ATH (G ATAAT, AT AT T, THAT $ATH (AT Fg0MAT — “HIAT T A Al

SATHAT T AT TIAAT 39 o AT HGITAT, - "9 qTATAT =07 AT T4 T
AT, TET AATAT =TT AR TF Tl AT 20, A9 AGTAHR FEAA ATE SATHAAT T4
T2, T AT ATae, SATAT 2T TEAHTA e $7T7 TS AT Hat= ATsh are e |

FATH=T 35 ATATT =A92Td 1953 |l F.%. FH J«1 [@vafeid Far. # T g0 919
T AT A1 AH ATg. AT TES( AZATT = AT Foqa s AT A9,

Sub questions

Question Number : 36 Question Id : 4771877070 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘SATHAT AT’ WeTe 93T Fgorsl &l ?
Options :

1.

TS| TGS
2. %
3. %

ST, TR
4. %

Question Number : 37 Question Id : 4771877071 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IT IAT-ATAA SATHAT ATe HIF (SrFFA?

Options :



qAFT AT T

AT FE0

Question Number : 38 Question Id : 4771877072 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
=, a1, fia=se

Question Number : 39 Question Id : 4771877073 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“UT AT ?ﬂ e O FeeA = 1T A7

Options :



?-\a?_ qﬂ?;ﬂ

Question Number : 40 Question Id : 4771877074 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

st

4, %

Sub-Section Number : 3
Sub-Section Id : 477187357
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4771877075 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

o o= gy It SraTa?

Options :
1. %
2.
PRI ERE T EY)
3. %

r
fl

ATAFTAT F5 9 FH AT g 9iaqrq
4. &



Question Number : 42 Question Id : 4771877076 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HaaygTT AT sTearaT dA97?

Options :

[

I EEIFREE MR I BT
1.9

HHGHTT T3
2. %

A7 T FroT & ATer

4. %

Question Number : 43 Question Id : 4771877077 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
AT TGO ATAT 74?2
Options :

SHTA 9Tl

1. =

AT HYA AT
2. %

ﬁﬁ:iq ]E?ll ] %IE-\”

3. ¢



Question Number : 44 Question Id : 4771877078 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TE==T TATH [T SR ATATE o5% Teral.

Options :

Te=m arame

[EEREIL]

2. %

ERILZIE
3.

o= e
4, %

Question Number : 45 Question Id : 4771877079 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FTATATT 9T FTHT AAaTETeAT =i 9727,
Options :
Tias 99

1. ¢

ad A=A

| qTHET

A THILTH



Question Number : 46 Question Id : 4771877080 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT AHTTHAT [STATHTAT AT, AT T HTes ABET?
Options :

I T

TAHTT FTb

o T

Question Number : 47 Question Id : 4771877081 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘AT HT AFq AT - g rq Froft ferfger?

Options :
ATATAT
1. %
AT, 70, e
2. =%
3. % TEALES



Question Number : 48 Question Id : 4771877082 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
r- F F FE - 1 a_l_ F-: . ~ 'ﬂ'!}f?
Options :

1. *

Question Number : 49 Question Id : 4771877083 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HATIH — AT TATATH FAT2H HT7?

Options :

TTITSE TOTST AT
1.+

ATBITTT FATHERT

T T (2o ®



Question Number : 50 Question Id : 4771877084 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ATAT TTIT — TZITS?
Options :
oot FTSrg FTRTer® A aree ! STt 9w
1.
- TTSTETA T ATAAT ST
) of HTH9T
3. %

Question Number : 51 Question Id : 4771877085 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ATHATAT AT TETS?

Options :

| S AT, AT, T ATh B id

ST ATFATAA F9F HeAT STl
2. %

3 xS AR e =1 2rar

4, %



Question Number : 52 Question Id : 4771877086 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HEATTA FEoToA........
Options :

st = fa=mdT ar=ardi= ==, fFa
1. v

(= is gifas oo
2. %

ER G EEIREL
3, %

ael s;'{]rl-a q‘ﬂiqﬂ
4, %

Question Number : 53 Question Id : 4771877087 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

qrearTdie Tiget & forfarT?

Options :

I

SEEEINEIE L]

2. %

FoddqT AT

A HTETE TS



Question Number : 54 Question Id : 4771877088 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

=,

A ATHHL

qH TTHaETH

HAT

I
iy

Question Number : 55 Question Id : 4771877089 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

2T, AT AEBIHL AT ... qT HAT G2

Options :

CICERN
1. %

EEIGEZ I



Question Number : 56 Question Id : 4771877090 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ATA A ATHITZEAT 9F 953 HTAT?
Options :
TAT
1.+
AT
2. %
AT
3. %
4. %

Question Number : 57 Question Id : 4771877091 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
1.

EE
2. %
3.¢



Question Number : 58 Question Id : 4771877092 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

1. %

2. %

3 % S
e

4.4

Question Number : 59 Question Id : 4771877093 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SATOTET a7 AT
T AT
e o

e HTB -

a‘lTj’ q—‘l’!}]ﬂ'r? AAFTTT '3,"%' ?

Options :



Question Number : 60 Question Id : 4771877094 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT — BT T HITAT TATA A AT G 7

Options :
1. #® .
., E 4\ -.JI I
2. %
-.3rl Q.FH—
3. %
r ~
ATHZ g2 Id]
4.
Language I1 English
Section Id : 477187224
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187358

Question Shuffling Allowed : Yes



Question Id : 4771877095 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politiclan was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhijp for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were pious to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of society, the saviours of the nation, and role models

for the plebelan masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771877096 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses 1s

their
Options :

wealth and power.

1. ®
Western education.
2. ®
association with Mahatma Gandha.
3. ¢
positions in the British government.
4.

Question Number : 62 Question Id : 4771877097 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What era 1s mainly discussed in the passage?

Options :

Pre-independence era
1.

Mughal-era
2. ®

Post-independence era
3. %

Modern era
4.%

Question Number : 63 Question Id : 4771877098 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?

Options :

Pigusness
1. #

Deceitfulness
2.4

Hard work

High moral standards

Question Number : 64 Question Id : 4771877099 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the expression 'leaders of the yore' refer to in the passage?

Options :



Leaders from foreign countries

1. #

Leaders during the pre-independence era
2.

Leaders who collaborated with the British
3. %

Leaders of India's post-independence era
4.%

Question Number : 65 Question Id : 4771877100 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. ®

Only their personal freedom

2. %

Their future generations

Their lives, property and sanity
4.

Sub-Section Number : 2
Sub-Section Id : 477187359
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771877101 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.

Fa

He apologized sincerely for being rude.

B) Later, he felt guilty about his behavipur.

)
)
C) During the meeting, Mr George spoke harshly to his colleagues.
D) Everyone accepted his apology readily.

)

It was because of a minor misunderstanding among them.

Options :

E.C.B,A. D
1. %
C.E.B.AD
2.¢
B.C.E,A, D
3. %
C.E.D.A B

4. %



Question Number : 67 Question Id : 4771877102 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A 1= correct.

1. ¢

Only the Sentence B 1s correct.

Both the Sentences A and B are correct.
3. %

Both the Sentences A and B are not correct.
4.%

Question Number : 68 Question Id : 4771877103 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Despite being outaider, she was elected as chairperson of the
committee.”
Identify the suitable option to complete the sentence.

Options :

an, a
1. %

the, the

a, the
3. %

an, the
4.



Question Number : 69 Question Id : 4771877104 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child in the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. %

frightend
2. ®

frighteaned
3. %

frightened

Question Number : 70 Question Id : 4771877105 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle™.

Options :

h
3.9



Question Number : 71 Question Id : 4771877106 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

What thev expected was to begin at s1x the performance.
! I g P
1.

) What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4, ®

Question Number : 72 Question Id : 4771877107 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven’t turned up yet.

Choose the correct option to complete the sentence.

Options :

get over
1. #
sent off
2.9
finds out
3.
give In

4, %



Question Number : 73 Question Id : 4771877108 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Options :

D
1. #®

Question Number : 74 Question Id : 4771877109 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn’t you inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1.

He asked her why didn’t she inform him about the change 1n schedule.
2. %

He asked her why she did not inform him about the change in schedule?

He asked her why has she not informed him about the changed

schedule.



Question Number : 75 Question Id : 4771877110 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never acts o rudely, ?

Choose the correct option to complete the sentence.
Options :

L% don’'t he

does he
2.9

doesn’t he

did he
4. %

Question Number : 76 Question Id : 4771877111 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon”.

Options :

phenomenas
1. %

phenomena
2.9

phenomenon
3. %

phenomenae

4. %



Question Number : 77 Question Id : 4771877112 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT sentence.

Options :

When she entered the room, everyone was tallking loudly.
1. ®

While he was watching TV, the phone rang.

After she finished the exam, she goes to the canteen.
3.¢

By the time we arrived, the guests had already left.
4o

Question Number : 78 Question Id : 4771877113 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She visits her hometown once 1n a blue moon.

; » n . n
Choose the meaning of the expression once in a blue moon .
g I

Options :

very rarely
1. ¢

day by day
2. %

day after day
3. %

regularly
4.%



Question Number : 79 Question Id : 4771877114 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
voice?

Options :

The men have been exhausted with the hard work.

1. #
The men are exhausted with the hard work.
2. ®
The men had been exhausted with the hard work.
3. %
The men were exhausted with the hard work.
4. &

Question Number : 80 Question Id : 4771877115 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite serious.

1. ¢

I have been quit serious.
2. ®

I was quite serious.

I had been quite serious.



Question Number : 81 Question Id : 4771877116 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

There was a lot of conflict between him and her.
Identify the antonym for the word "conflict”.
Options :

dispute
1. ®

quarrel
2. ®

frietion
3. %

agreement
4.¥

Question Number : 82 Question Id : 4771877117 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. #

on
2. %

by
3.¢

off

4, ®



Question Number : 83 Question Id : 4771877118 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At this juncture, it 1s impossible to say whether she will make a full recovery
or not.

Here the word “impossible” is a/an

Options :

% verb
adjective
2.9
noun
3. %
adverb
4.%

Question Number : 84 Question Id : 4771877119 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was incredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

=
L% who
whose
2. ®
whom
which

4.



Question Number : 85 Question Id : 4771877120 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSEW skills in

Communicative Language Teaching {CLT)‘?

Options :

Practicing grammar rules in isolation
1. ®

Developing language skills independently

> Using real-life contexts to enhance language skills
3.

Relying only on writing assignments
4, ®

Question Number : 86 Question Id : 4771877121 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method is broader than an approach.

1. ®

An approach 1s a set of classroom activities.
2. ®

A method 1s the theoretical basis, while an approach is its application.
3. %

An approach 1s a theoretical viewpoint; a method 1s a practical plan for

implementation.
4.



Question Number : 87 Question Id : 4771877122 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which activity helps best in reinforcing vocabulary in young learners?
Options :

Dictation
1. ®

Grammar drills

3 ¥ Word games and picture assoclations

Writing reports on vocabulary
4.%

Question Number : 88 Question Id : 4771877123 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“During a courtroom trial, a juror listens to the defence attorney’s argument
to judge its logic and truth.” This type of listening is known as

Options :

Selective Listening

1. #

Discriminative Listening
2. ®

Critical Listening
3. ¢

Appreciative Listening
4.%



Question Number : 89 Question Id : 4771877124 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT ) 1s
Options :

to pass or fail the students based on their performance.

1. %
to 1identify the learning difficulties of the students and 1mprove
teaching.

2. ¥
to rank students among other competitors.

3. %

to complete the syllabus and prepare the students for the next class.
4.%

Question Number : 90 Question Id : 4771877125 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A psycholinguistic barrier in learning English refers to the
Options :

lack of playground.
1. ®

poor classroom seating.
2. %

v fear of making mistakes.
3. %

familiamty with foreign culture.

4. %

Mathematics
Section Id : 477187225
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 30

: Yes Display

: Yes Display



Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187360
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771877126 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the mean of the frequency distribution 1s 59.3 and }fix; = 1429 + k., Y f; = 30,

then the value of 'k’ 1=

ST TETET A=t AT (mean) 59.3 #Mg AT Y fix; = 1429 + kY, = 30, 97k
~fT T T

]
L]
=

200



Question Number : 92 Question Id : 4771877127 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IfsecO +tan® =3 and 0° < @ < 90°, then cos O =

FTsecO +tan@=+3 & 0 <8 <90° TT cosh =

Options :
2

\-‘E
1. %

s

-
“"‘lwr

3.¢

~="|
1



Question Number : 93 Question Id : 4771877128 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If A and B are any two finite sets such that n(A U B) = n(A) + n(B) . then

choose the correct relation between the sets A and B.

T A @7 B 29 #7112aq 9 @ n(A U B) = n(A) + n(B) 7 A &1 B Fi=a1d 1
AT Fae FHITT,
Options :

A and B are equal sets

A =7 B #7819 @9 Agq
1. #

A 15 subset of B
- A T B =7 3969 #g

B is subset of A

B 2T A =7 3969 g
3. %

A and B are disjoint sets

A AT B 7Fe f59g 99 /g
4.



Question Number : 94 Question Id : 4771877129 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The coordinates of the point which divides the line segment joining the points

(—6,10) and (3, —8) in the ratio 2 : 7 internally lies in the quadrant

ST (—6,10) &Y (3, —8) IT Z0 A qAT ST Y9G 2:7 AT AU Fa (e AemmeT
ST Ag a7 AT fE9rm=A1 fdg= #9=7 (coordinates) FITAT Iq4T9 (quadrant) AT
ST

Options :

Quadrant I

| AT

Quadrant II

- At 11

Quadrant IIT

3 % FLAT I

Quadrant IV

Taarer IV
4' % Wt



Question Number : 95 Question Id : 4771877130 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If 0.65 = E' where p and g are co-primes, then g — p =

LS O.ﬁzg, p AN g TATHD AT AZ AL q —p =

Options :

4.

Question Number : 96 Question Id : 4771877131 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose an inconsistent pair of linear equations from the following.

Options :
x+2y+4=03x—-6y—2=0
1. % '
i — 3 =—31L, 1519 =33
2.¢
3x+4y =11,9%+12y =33
3. %

=
%x —2y =3,9x+10y =10



Question Number : 97 Question Id : 4771877132 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two dice are tossed simultaneously. then the probability that the sum of the

numbers appearing on the top of the dice 13 a prime number 1s

ST 2 T (dice) THH db1 Tl 3o 2 FA1EZ 74T dT(AT ATA=AT HATAT 405

Options :
13
36
1. ®
5 % 18
12
3.4
11
36



Question Number : 98 Question Id : 4771877133 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If sin 8 + cosecB = 2. then sin® @ + cosec® A =

w7 sin 8 + cosec0=2 @7 sin® @ + cosec? =

Options :

2
1. ¢

L

14



Question Number : 99 Question Id : 4771877134 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: I O ] ; ] 3
The time taken for T4800 amount to 5556, if simple interest 1s caleulated at 6 fr:

PEr annum 15

m48ﬂﬂw5556wﬁsﬁ%mﬁraﬁw6%ﬁ widad FEe T ATATST ATTAAT
ENCAELIRET

Options :

2 years 3 months

2 3% 3uf2y

1. ®
2 vears 4 months
299 4 "5igd
2.
2 yvears 6 months
299 6 HigH
3. %

2 years 8 months

2 9% 8 #igd

4. %



Question Number : 100 Question Id : 4771877135 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

.12"1(_.—5},42—3
15xZy—3g3
Options :
ax7
S5y iz

4}’?26
Sx7

:(%)
3 % L

4y7
5x7z®

e |

Question Number : 101 Question Id : 4771877136 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of factors of 4560 1=
4560 #=AT= FFT’JF #9499 (factors) gl

Options :

20

40

19



Question Number : 102 Question Id : 4771877137 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The compound ratio of 2: 3 and 9: 16 is equal to x : 64, then the value of ‘x" is

THTT 2 @ 3 AT : 16 A a2 ATAT (944 FHIT (compound ratio) ¥ : 64 AT aL@T AT
T = qe Tt

Options :

6
1. ®

3
2. %
3 % 48

24



Question Number : 103 Question Id : 4771877138 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
From a circular thick paper of radius 20cm, a sector with angle 216 1z cut out
and its bounding radii are bent to form a cone, then the height of the cone {in cm}

18

AT TEHT ATATHIT HTET=T THsAT=A7 247 20 F.77, g &7 Frrarge 2167 =

UF Fde G2 (sector) FIIAT ATG] AT AT Fleal (=HAT ATHAA TF 9F (cone) TATL FAT

SITAT T2 T SIp= 1 31 (bt # HT, A

Options :

16
1.

12
2. %

S
3. %

6



Question Number : 104 Question Id : 4771877139 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements related to subsets of a set.

HAT=AT STEAT=AT Adied FTAT (e a7

A) P = {x:xisanoddnatural numberand 9 < x < 15} .then the number of

subsets of et P 15 16.

P = {x : x § AR AIHEEAT A AT 9 < x < 15} P FAT=AT ITLATHT H&AT 16

B) @ = {x:xisaletterin the word FOLLOW}, then the number of subsets of set Q
1s 16.

Q = {x : x € FOLLOW STsaT<o UH AT ATg} T% 69 Q F ITHATHT H=AT 16 #Te,

Choose the correct answer.
Options :
Both the statements A and B are true.

2l (=gt A #rtor B 59

Statement A 1s true and Statement B 1s false.

g A 907 antor B fag o9

2. %

Statement A iz false and Statement B 1s true.

e A araeg & fFa= B 909
3. %

Both the statements A and B are false.

3=l A =ior B fasme s



Question Number : 105 Question Id : 4771877140 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1 1

The discriminant of the equation i 3, (## 0, 2) s
1 1 ;
e 3, (x #= 0, 2) g aHiFTo=T 95
Options :
1
1. %
12
2.9
28
3. %
60
4. %

Question Number : 106 Question Id : 4771877141 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of odd natural numbers from 1 to 2025 1s

1 @ 2025 #efier At GFow gt 90

Options :
10,20,100

10,24,144

10.26.169
4.



Question Number : 107 Question Id : 4771877142 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose an INCORRECT statement from the following related to irrational

numbers.

Options :




Question Number : 108 Question Id : 4771877143 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In AXYZ. ~X =55 and 2Z = 50, then the sides of AXYZ in ascending order of their

lengths 1s

AXYZ, +X =55 @7 £Z = 50" % AXYZ =T aTs(=1 @& =1 FAacAT HAT F=vi 7eft

=,

Options :
XY, YZ ZX

1. ¢

YZ, ZX, XY
2. %

XY, ZX, YZ
3. %

LX. Y4, XY
4. %



Question Number : 109 Question Id : 4771877144 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The median of set of 11 distinct observations is 13. If each of the largest 5

observations of the set is increaszed by 3. then the median of the new set

11 FTTATeTT HATIEA AT A=T1=1 HTETH (median) 13 A2 52 AT A7 479

HiaAT 91 AT 9edeht 3 7 1% FeAt a7 749 G379 999 FIAT TH17 a2

Options :
1z increased by 3.

39 ATew

1. ®

1s three times of the original set.

H& H9TAT 3 92 gled
2. ®

remains the same as that of the original set.
3.

is decreased by 3.

3 & 7t Erdm



Question Number : 110 Question Id : 4771877145 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ABCD 1is a parallelogram with AB=15cm, BC=12cem and area of the

parallelogram iz 90 cm?, then the perpendicular distance (in cm) between its

longer sides 1s

ABCD 2 @HIq? I« g =mAed AB = 15 #.41., BC = 12 #.#i. awfor = a9
FAAST AR 90 F,H1.2 g TT AT ATS(HATA AGTq? bl o5, THA

Options :

7.5
1. ®

6
2.

12
3. %

15



Question Number : 111 Question Id : 4771877146 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A bus travels 42km in 35 minutes. If the speed remains the same, then the distance

(in kilometers) the bus can travel in 6 hours is

uF a9 35 e 42 A2 #a7 977 Fed. T Td1 (speed) T FTH TTRi€l a7 &

Options :

432
1.

504
2. %

360
3. %

300



Question Number : 112 Question Id : 4771877147 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The volume of a cube is 216 cm?, then the total surface area of the cube (in sq.cm)

18

UETAT BT (cube) FA%a (volume) 216 #.HI3 ATE §% T 4T UHY T9%a (then the

total surface area) Tt & 7.2 5

Options :



Question Number : 113 Question Id : 4771877148 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
An observer of height 1.68 meters 1s 10.32 meters away from a coconut tree of
height 21 meters. then the angle of elevation of the top of the tree from observer's

eve 13

e T 1.68 Hizx 3 arg AT v 21 HieT 37 asr=A1 ASET 19.32 #ie7 37
IAT AT 97 AT s FHE TG AT ST TEamT WA T Fear
T (elevation angle) Tt TTE?

Options :
| 30

o

45
2. ¥



Question Number : 114 Question Id : 4771877149 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If P 1is the set of all prime natural numbers, Q is the set of all even prime natural
numbers and R is the set of all odd prime natural numbers, then choose the correct

statement/s from the following.

=7 P e ARG Heg HATAT 9 Q T AFA 1 HH HATAT = AT(0r R 7A AFA(6 AT

A) QNR=0
B) P-QUR

C) @ is a singleton set.

Q &7 UHA T2 ATAAT A7 ATg

Choose the correct answer.

Options :

A & Bonly

T A AT B

C only

T C

A& C only

Th A AT C



4.«

AB&C



Question Number : 115 Question Id : 4771877150 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Nature of mathematics reflects the following characteristics

A) A Seience of abatraction

aﬂlf% ‘El 'ELHH

B) Based on logical reasoning and axioms

C} Based on Inductive and deductive reasoning

ARTHA AT 99T 107 ard g

D) Uncertainty in results

qroTaTEET i Taraar FEor

Choose the correct answer
T 37 fH==T
Options :
A & Bonly

T A @ B
1. %

C@IDDI‘LI}'

F=h C @ D
2. %

A B &' C Dlﬂj_:

3 %<6 A, B &rfor ¢

D only

, % FW®D



Question Number : 116 Question Id : 4771877151 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a learner draws a figure appropriately as per the general statement of the
theorem. then the above act falls under the following teaching objective of
mathematics.

17 TETAT {9FTT (learner) TETAT THATAT (theorem) ATHTT &9 AT A

THTL ATHAT Fledl a% T DAl TOTGT=AT FALATIA S(EABTIHT A (a1 BHIoTeAr

Options :

Knowledge
ElG)

1. ®
Skill

- FIT
Understanding

3 % HEEA Rl

Application

EXEIEENCEERIN)

4. %



Question Number : 117 Question Id : 4771877152 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The changes that occur in the Teaching learning process as per the

present curriculum frame work is/are

HLAT=AT AT, FHET ALTASATAT. 0907 29 Aibaa gion a2 Gl

A) Emphasis on Learner centered Education.
oo Fieg e 97

B) Believes that the knowledge is static and has to be taught only by the

teacher.

ST T2 =g AoT o = feraAsRi T fereret qriest Aray e Sadr.

C) Believes that learner can construct the knowledge and creates the
knowledge.
Tt ST 7517 %% STl SAT(97 ST (FH 17T F%= 97T,
Dj Teacher facilitates, encourages and assist the learner to foster active
learning.
|11 e 7 e e e e 2 I e 2 O e e T s O s Bt L s e S AR
Tl did.
Choose the correct answer
Options :
A & B only
T A AT B
1. ®

A.C& Donly

T A Camor D
2.

;—L B & (:, 0111}'

T A, B &t C
3. %

D only

4 % Tw®D



Question Number : 118 Question Id : 4771877153 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Following 1s NOT the characteristic of good mathematics text book.

Options :

Content should be organized creating a balance between logical and
psvchological aspects.

g, ATHHL AT Tiasl T4 qTih AT ATATHH HqeAT T7ad 12

1. %
Connecting mathematical concepts to real world applications.
. AT FFeaaT=T FIEafa® Saardre arTarsil T qamaT
2.
Well graded exercises.
AA T T TAAT Fefof T T AT,
3. %

Over reliance on abstract language

4.



Question Number : 119 Question Id : 4771877154 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following assessment tool 13 NOT considered as a part of formative

assesament.
ATATATH T BT HeAATTA HATET ST HAATIAT=T AT HITAT ST ATal,
Options :
Portfolio
- TEqUAST HEM
Projects
2 % T
Assignments
AT
3. %

Semester Examination

CENESER I EL 1]



Question Number : 120 Question Id : 4771877155 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The unit plan in the mathematics subject helps the teacher

A) To get an overview of the contents in the unit.

B) To know the requirement of periods to complete the unait.
HZEHTS T EITATHIST AL A= ATl S8 ATT99F A,
B4 Gives an i1dea which unit has to be dealt in which month.

STOTAT H2® HIMCAT HIgTTd fSrhara=T = Hed=r 2,

D) To transact the lesson for a specific day

fafore faaelt =7 foravamamsi #ad grd.

C]J.GDSE‘ the correct answer

- .
MY S Id49=]

Options :

A & B only

Fh A @i B
1.

C & D only
) % % C @i D

A B& C 0111_\:'
% A, B &@rfor C



A, C& Donly

A, Canfor D
4. %

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Science

477187226
5

Online
Mandatory
30

30

30

0

1
477187361
Yes



Question Number : 121 Question Id : 4771877156 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement among the following.

GTA Al A=h (T ArBdT

Options :

The force of buoyancy 1s the reason for an immersed body to appear light.

JeAad g geadeAT TEAT gech AT HILI AL,
1.¢

Relative denszity has units to measure.

2. %

Heavier body floats.

_ EERCIE RG]

Hydraulic jack is an application of Bernoulli's principle.

4. %



Question Number : 122 Question Id : 4771877157 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the ‘correct quantum number set’ for the outer most electron m Na

Na W&o 9a1T G181 FE=a1 g2 (q Ao FT Fied GeaT=a1 a9 ABal
Options :

n=31=0m =0,m, zé

n=2I1l=1m =-1m, =§

n=2I1l=1m =1m_ =
3. %

B | =

n=3Il=1m; =0m, =

[



Question Number : 123 Question Id : 4771877158 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A FALSE statement about refraction of light 1s

Options :

Velocity of light 1s more in rarer medium.

T97 o ATEAHTT THTSTST A7 ATEH AT,

1. %
Angle of incidence /refraction more in rarer medium.
. a7 AT=AHTT 999 HiF [ ATGdT DI ATEE AT
2.
Velopeity of light 1s less 1n denser medium.
, T ATSTHIT ST 7 FHHT AT,
3.

Angle of incidence /refraction is less in rarer medium.

E¥® ATEAATT Ta i [ ATIAT T A AFal.
4.



Question Number : 124 Question Id : 4771877159 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The true statement from the following.

GTA AT AT O 5T
Options :

The loudness of normal conversation 1s about 20dB.

HIHT HATTIT T AT AT 20dB =TT,

1. ®

The shrillness of sound is amplitude.

AT STACT (FIEZAT) 2 AT (amplitude) A,
2. ®

Vocal cords close when we speal.

AT AT H574T (Vocal cords) THTHFAT fHsdT4.
3.9

Sound can travel in vacuum.

faata g7 g2 9979 F74T.



Question Number : 125 Question Id : 4771877160 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

VSEPR Theory mainly fails to explain
VSEPR fZia qeaq: #7% F794Td A7+ 1 57al.
Options :

Space occupled by electron pair

Bond angle
ELEAE]
2. %
Strength of bond
3 ¥ EEGE

Molecular shape

g s

4, %



Question Number : 126 Question Id : 4771877161 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The force of attraction between any two unmiversal objects 15 INDEPENDENT of

FIITCATET 21 AT (= TEqHE (e SRS STi~h F1ei T=a= A,

Options :

Distance between objects

1. ®

Mass of objects

5 % AEE TEHT

Universal Gravitation constant

Orientation of objects

4. ¢ 4



Question Number : 127 Question Id : 4771877162 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60W bulb consumes “x”J of energy when connected to an electric source of
20V. The amount of energy consumed by the same bulb when connected to

source of 240V 1s

% 60 W =T aed 120 V fErem &amar sisedraw “x J 391 ar9ea’ = ded 57 240 V

Options :

2X =]

1. #®



Question Number : 128 Question Id : 4771877163 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A coin 1s kept under a glass slab of refractive index 1.32. It appears to be shifted

vertically by 0.7cm. Then the thickness of the glass slab 1s

TERT ATTTAT ATHAATH 1.52 AHAAT BIA=AT T ATl SATATd AT Ag o A9 AAR
FSFToTTE 0.7 H.HT, =47 R8T a2t 380 T2 FTAIS =1 FA1S1 el ATE,

Options :
2.0 cm

2.0 7t
1. ¢

1.5 em

1.0 cm

1.0 F47



Question Number : 129 Question Id : 4771877164 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following.

Set I Set IT
A) Nylon 1) Wrinkle free
B) Rayon 1) Diapers
ERIC] SRR EE:]
C) Acrylic 1i) Fishing net
AF AT AT ST
D) Polyester 1v) Carpet

ChODSE‘ the COrrect answer:

Options :

A-m, B-11, C-1v. D1
1.

A-m1, B-n, C-1, D-1v

A-m, B-iv, C-1, D-n

A-11. B-1. C-1v, D-111



Question Number : 130 Question Id : 4771877165 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The true statement among the following
ATATATHT T Fa7
Options :

Smelting carried out in Reverberatory furnace.

M@ (Smelting) Woge a2dT ALid %ol AT
1.

Roasting carried out in absence of air.
2 33 %-: Q\. : -]

CaOQ 1= obtained by adopting Caleination.

Fieem e AtFaTEE (Ca0) Feamem ahwagr Mo 9.
3. ¢

Dastillation 1s a method of purification of high boiling metals.

s, . =
fEfeeta &1 37 IaFa1® TTAT ATa=AT SEFITHT TF TZa Ae.



Question Number : 131 Question Id : 4771877166 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The substance which is NOT treated as an electric conductor among the following

G (Aol g1 92T T4=[d a2 ATAAT ST ATgl

Options :

Mercury

1. ®

Bizmuth

2.9

Graphite

VIEAFE
3. %

Sodium

EAERE:

4, ®



Question Number : 132 Question Id : 4771877167 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The coefficient of O7 in the balanced chemical equation of burning Propane

AT AT STAAT=AT HATAd TATATAF THRTTHET O (ATTAT) =T [00F & 37,
Options :

1
1. ®

A

2.¢

Question Number : 133 Question Id : 4771877168 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In plants, this part of a flower develops into a fruit after fertilization

TAETAIHET FAATHAL g1 AT FapTa (dhiad grar
Options :
Embryvo
g7

1% °

Embryvo Sac

o Toere

2. %

Ovary

it 12
3, o RS

Ovule

4% AT



Question Number : 134 Question Id : 4771877169 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the cell organelles that are found in both Prokaryotic and

Eukaryotic cells

T AT fAsTdea® el AT Teal AT AL I8t SA==9 Aaar

Options :

Ribosomes
TEAE
1.
Mitochondna
2. % Siily
Plastids
3. % LiES

Endoplasmic Reticulum



Question Number : 135 Question Id : 4771877170 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fixed joints are present in this part of human body
HIFAT=AT 91270 AT AT A9 A76T AN
Options :
Pectoral girdle

1. %

Pelvic girdle

2. ®
Skull
3w T
Backbone
4 % TBTETEIT



Question Number : 136 Question Id : 4771877171 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following sentences and identify the correct answer

ATl oot a1 G199 A=GF 397 ABET
A) The plants with tap root system have leaves with parallel venation

HI2HD HET FAAAT AT (=41 T JHHIAL (971 qi=41 8d,

B) The plants with fibrous roots have leaves with reticulate venation

ATHT HBEEAT AAAAT LT =T TTATT ATBRTL 9= AT A,

Options :
‘Sentence — A’ 18 correct, ‘Sentence — B’ 1= incorrect

=T A 519F g, A= B JF A,

1. %
‘Sentence — A’ 18 incorrect, ‘Sentence — B’ 1s correct
e A 3% ag, Fg= B A% g,

2. ®
Both the sentences are correct

3 ® & o ﬁ- E \I_F ;-n

Both the sentences are incorrect

4.



Question Number : 137 Question Id : 4771877172 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the process of cutting the Woolen fleece of a sheep from the following
ST =T FIAS A AT BTTTATAT THAT @TATATDT HITAT o ABaET,

Options :

Scouring

1. #®

Shearing

A

Stifling
3. %
Sﬂl‘ting



Question Number : 138 Question Id : 4771877173 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the plant that stores food materials in stem
G121 7T AT T2 ATSAET FALTAT HITAT T AT
Options :
Potato

EEAEY
1. ¢

Sweet potato
(Y
2. % )
Carrot

3. %

Raddish



Question Number : 139 Question Id : 4771877174 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the phyla that are known for having an open circulatory system.

A)  Annelida

B) Arthropoda
C) Mollusea
HIAEhHT
D) Echinpdermata
Choose the correct answer:
IR 397 Ha=T
Options :
A & Bonly
FTh A & B
1. %
B & C only
wh B #Ter C
2.9
A & D only
FTh A &9 D
3. %
A.B& Donly
wh A, B @i D



Question Number : 140 Question Id : 4771877175 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Diatom’ 13 a/an

Options :
Protozoan

ATTATH

Fungus

EC

Bacterium

3.% AT

Algn

-

ST
4.



Question Number : 141 Question Id : 4771877176 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the hormone that 1= secreted in both male and female humans

AT AL AT AT AT Fleg ! WeA BT SITTTL g ATl

Options :
Follicle stimulating hormone

1. ¢

Testostergne

2. %

Oestrogen

3. %

Progesteron

= T

-

4. %



Question Number : 142 Question Id : 4771877177 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following gas in the normal atmosphere 1s iIn much smaller
quantities?

Options :

Ar
1. %

0,
2. %

Cco
3. 2

NZ
4, %

Question Number : 143 Question Id : 4771877178 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following animal is listed in ‘endangered list™?
GTATAToH T HIOTAT AT HheT=d TOHAT=AT ATl HEA ATg,

Options :

Asiatic lion

usftardis foig
1.«
Kangaroo
EARIED
2. ®

Desert fox

3. %
Pigeon
E E-.

4. %



Question Number : 144 Question Id : 4771877179 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tracheal Respiratory system 1s present in this organism

AT T JFT 97 | T A

Options :

Frog

2. ®
Earthworm
. C

3. %

Cockroach

4. b‘



Question Number : 145 Question Id : 4771877180 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ravi, a Physical Science teacher, applied alcohol on a student’s hand and asked
him to observe and describe the sensation. He repeated the process with spirit
and petrol. The student reported a cooling effect each time. Based on this. identafy

what teaching method 1s the teacher using.

==, StfamsraE=a1 St vt FamAai=ar graeT 9 @rad A &1 Jimad
THT HAT, ToAF AT [F2ATeATT T2 ST A A AT (ST FIT AEATIT

Options :

Deductive method

IERR R Gi

1. #
Inductive method
HETHA Yz d

2.9
Lecture method
ATATT T2d

3. %

Heuristic method

HTEATeHT T



Question Number : 146 Question Id : 4771877181 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following learning experiences is NOT categorizsed in Edgar Dale's
cone of experience?
FTATATT THIOTAT (ST USeI7 S AT AqAa FHT a1y ATet

Options :

Direct purposeful experience

TeTE IR A
1. ®
Contrived experience
TEHAT (1) AT
2. ®
Dramatized experience
3. % b

Vicarious experience

T (TAEET) ATET
4.



Question Number : 147 Question Id : 4771877182 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a laboratory experiment, a student accidentally splashes sodium
hydroxide solution into his eye. As a science teacher, which of the following would

vou choose to wash the eye as the most appropriate first-aid treatment for this
eye injury?
T NATeA A TSI T, T I =47 SledTd 954 A11=99 ST (F4913s 29

CEIGIRIRCEE -8

Options :

Weak sodium bicarbonate solution

A9T<h ATSTH a7 Hlaide 219

1. ®
Strong sodium bicarbonate solution
TITH AI=4H 919 FTa € 237
2. ®
1% boric acid solution
. 1% AT ¥ Z1Ea7
3.

1% hydrochloric acid solution

1% ETZFAT® ATF a0



Question Number : 148 Question Id : 4771877183 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 18 NOT indicative of the hypothesizing skill?
FTA AT T T Fwed= fA2feT ATal?
Options :

Formulating questions which lead to inquiry

| % AT JOE W AT FO

Using the senses to gather information

5 AT T 6T FETATATAT SIeaT=T 9197 FHeor

Identifving variables for an experiment
Attempting to explain observations or relationships In terms of some
principles

FTEl Aea =T AFATT (F190 AT Fa8 P72 FLAT=T 997 FH700



Question Number : 149 Question Id : 4771877184 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following would be the most suitable strategy to introduce the topic
‘Communicable Diseaszes’” at upper primary level?
T A2 ?
Options :
Provide a definition of Communicable Diseases and introduce the concept

by lecturing.

Arrange for a doctor’s presecription pertaining to a communicable disease

and hold a discussion around it.

Hold a discussion on various communicable diseases, preventive measures

to avold their spread and their cure.
fafaer Joaete—= 0T, ST W9 AT TETS T ATdagTead ST AT o 391

3.

Showing short duration video clippings of various communicable diseases,

measures to prevent and avoid their spread.

[ ol CR = = : = ™ ) - Y
fEfae govie— LT, =T 99TE LT TaT S ST ETETar 3979 a1



Question Number : 150 Question Id : 4771877185 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from the following.

FTA AT Aol 97 Al

Options :

Humans can digest cellulose. Yezs/No
P SRR SRR S NI
What are bones made of?
BI< FSTITEA a-ard?
1. Collagen and Calcium phosphate
2. Calcium and Sponge
FHeeT=H AT T
3. Sponge
(2 E]
4. Calcium and Ferrous sulphate
- He9T=TH AT F3d Aok
What would happen if humans could fly like birds?
ST HIAT TATETEE 33 9 92 17 gled?
3.9

On a scale of 1 to 5 points, how likely are you to recommend Biology as a

subject of study after 10 class?

18 5 ST ARG, ZgTaAa? of ta9r gf & sre=arar= o g fSrera
FIUATH TFAAT (ohel T AT ?



